B FP HYDRAULIC POWER PACK

s




Symbols used

Side where flange is attached

Ground floor

Electrical connection boxes on AC motors

Poles and/or starting relays on DC motors

Important! (Important data/information)

> @ M | o0

@ TCSAL Fill plug with breather and level stick
@ TCAL Fill plug with breather and level stick
@ Standard plug (closed)

Standard oil fill plug

@ TCS Fill plug with breather

@ TC Fill plug

TCR Fill plug with check valve

& TCA Fill plug with back check

@ TSM Drain plug with magnet

TSLV Plug (or level stick) with visual indicator
@ TS Drain plug

© 2011 Brevini Fluid Power - All rights reserved. Printed in Europe.

The technical features reported in this catalogue are non-binding and not subject to legal action. Brevini Fluid Power will not be responsible for information and
specifications which may lead to error or incorrect interpretations. Given our continuous technical research aimed at improving the technical features of our
products, Brevini Fluid Power reserves the right to make changes that are considered appropriate, without prior notice. This catalogue may not be reproduced
(in whole or in part) without the prior written consent of Brevini Fluid Power. This catalogue supersedes all previous catalogues.

General terms and conditions of sale: see our website: www.hydr-app.com




Table of contents

lhydr-app

Introduction ... 2 Tab.5.12.1 Variants - Vertical Installation...........c.cccoooviviiinininnnes
Tab.5.13 Rectangular tanks in sheet steel - 9 litres ...........c.co.cc.....
TUStration..............oocoo 3 Tab. 5.13.1 Variants - Horizontal Installation.................
Tab. 5.14  Rectangular tanks in sheet steel - 14 litres
Selection €ode ... 4 Tab. 5.14.1 Variants - Vertical Installation..............ccccocoooivririninnnes
Tab.5.15 Rectangular tanks in sheet steel - 25 litres .........c..cc........ 33
Sect. | - Central bodies ... 6 Tab. 5.15.1 Variants - Horizontal Installation............cc.ccocoooiorinninnes 33
Tab. 1.1 Body SEIBCHION ... 6 Tab. 5.15.2 Variants - Vertical Installation..............cccoocooorvrrininines 33
Tab. 1.2 Maximum pressure valve or plug...........cccccooooriiininrincene. 7 Tab.5.16  Square polypropylene tanks 180x180 -5/ 7 litres ........... 34
Tab.5.17  Square polyethylene tanks 140x130 - 1.5/ 3/ 4 litres.....35
Sect. Il - Valves for FPA body ... 8 Tab.5.18  Square polyethylene tanks 180x180 - 4 litres................... 36
Sect. Il - Valves for FPCbody ..o 9 Tab.5.19  Square polyethylene tanks 180x180 -7 /10 litres........... 37
Tab. 2.1 CaVity USEA ... 10
Tab. 2.2 Selection iNAEX .......c.oovervvririiieieeeee e 11 Sect. VII-DCMOtOrS...........o.ovii e 38
Tab.2.2.1 Maximum pressure valves (A..).........ccocovoeroreree. 1 Tab. 7.1.1  Permanent magnets, light-duty service - @80 - 12 VDC .39
Tab.2.2.2 Unidirectional check valves (B.) ........ccccccoooovivviveiren. 11 Tab.7.1.2 Permanent magnets, light-duty service - @ 80 - 24 VDC .39
Tab. 2.2.3 Manual controls (C.) ..oovovvoveeeeee, Tab.7.1.3  Wound fields, light-duty service - @ 114 - 12 VDC..
Tab.2.2.4 Cartridge-type solenoid valves (D...) .c..ccooovorvorierin. 12 Tab. 7.1.4 Wound fields, light-duty service - @ 114 -12VDC............
Tab. 2.2.5 Flow control valves (F.) c....o.eoeeeeeeeeeeeeeeeeee 12 Tab.7.1.5 Wound fields, light-duty service - @ 125 - 24 VDC............ 41
Tab.2.2.6 Emergency valves (H.) ..o 12 Tab. 7.2 Table of accessories for DC motors ..........cccccvvvecveenen. 42
Tab. 2.2.7 Plugs and connectors (T.).......cooovoveeeeereeeeeeeeeeeeeee 13
Tab. 2.2.8 Manually operated pumps (Z.).......ccccovvevoiieiireeieenn 14 Sect. VII-ACMOLOrS.................oooooeeeeeeeeeeeeeeeeeeeeeeeeeeee. 43
Tab. 2.3  Flow regulator on drain Cavity........c.cooooiviiiriiisininnes Tab.7.01 B14 - Three-phase, 2-Pole Motor - 230/400 VAC 50Hz .... 44
Tab. 2.4  Flow regulator on peripheral cavities Tab.7.02 B14 - Three-phase, 4-Pole Motor - 230/400 VAC 50Hz ....45
Tab. 2.5 POrt PlUGS ..o Tab.7.03  Single-phase, 2-Pole motor - 230 VAC 50Hz - special ......46
Tab.7.04  Single-phase, 4-Pole motor - 230 VAC 50Hz - special ......46
Sect. Il -Pumps...............oi 15 Tab. 7.05 Three-phase, 2-Pole Motor - 230/400 VAC 50Hz.............. 47
Tab.3.1.1 Selection of DISPLACEMENT of Group 05 pumps............. 16 Tab.7.06 Three-phase, 4-Pole Motor - 230/400 VAC 50Hz.............. 47
Tab.3.1.2  Selection of DISPLACEMENT of Group 1 pumps .............. 16 Tab. 7.07  Three-phase, 2-Pole Motor - 230/400 VAC 50Hz
Tab.3.2  Selection of ACCESSORIES of Group 1 pumps ................ 17 Tab. 7.08 Three-phase, 4-Pole Motor - 230/400 VAC 50Hz
Tab.7.09 Three-phase, 4-Pole Motor - 230/400 VAC 50Hz
Sect. V-Tanks ... 18 Tab. 7.10  Three-phase, 2-Pole Motor - 230/400 VAC 50Hz
Tab. 5.1 Tanks in sheet steel @123 - 1 itre......cooovviveeevceeien 19 Tab.7.11  Three-phase, 4-Pole Motor - 230/400 VAC 50Hz
Tab.5.2  Tanks in sheet steel @ 123 - 2 litreS.......cocovvevierirririane, 20 Tab.7.12  Three-phase, 2-Pole Motor - 230 VAC 50Hz ............c......... 51
Tab.5.3  Tanks in sheet steel @ 123 - 3 litreS.......cooovververirienn, 21 Tab.7.13  Three-phase, 4-Pole Motor - 230 VAC 50Hz ..................... 51
Tab.5.4  Tanks in sheet steel @ 175 -5 litres.........cccovevverreveennnn, 22
Tab.5.4.1 Variants - Horizontal Installation.............cccccoooeciiinninnn 22  Sect. VIl - Position and orientation of installation ..................... 52
Tab.5.5  Tanks in sheet steel @ 175 - 6 litres Tab.8.1  Power pack in horizontal position ............c.cccccoovvererucenn. 53
Tab. 5.5.1 Variant - Horizontal Installation ...........cccccccoeeiveirinininnns Tab.8.2  Power pack in vertical position ...........cccoooevevevrvcceeicienn 54
Tab.5.6  Tanks in sheet steel @ 175 - 8 litres Tab.8.3  Orientation of installed MOtOr ........cccooovvviiiiiiiic 55
Tab.5.6.1 Variant - Horizontal Installation ...........c.ccccooooiiiviiininnes 24
Tab.5.7  Tanks in sheet steel @200 - 5 litreS.........coocooververrrrenn.. 25 SeCt. IX - ACCESSOMBS .............oooveoeeeeeeeeeeeeeeeeeeeeeeeeeeen 56
Tab.5.8  Tanks in sheet steel @ 200 - 8 litreS........cc.ccovvvvrverrrrrnenn. 26 Tab. 9.1 ACCESSOMES.....vuiieeieiiiieieieeeee e 57
Tab.5.9  Tanks in sheet steel @200 - 10 litreS......o.covevvervrrerrenn. 27
Tab.5.10 Tanks in sheet steel @217 - 10 litreS........coccovoovverveennn.. 28  Overall dimensions offlange................................ocoooiiiii 58
Tab.5.11  Tanks in sheet steel @ 217 - 12 lItreS...c.ovvvrverererrrcrnrennn. 29  Example of order code for FPA power pack........................c.cc.ccoooo.. 59
Tab.5.12  Rectangular tanks in sheet steel - 7 litreS ..........cccovvenne. 30  Example of order code for FPC power pack...................cc.cccocoooonin. 60
FP_E/002/2011

yo ’~ brevini

fluid power



Introduction

lhydr-app

The FP series power pack is an easy-to-assemble, compact, electro-hydraulic
unit. With its versatility and modularity, it offers many combinations of hy-
draulic circuits to suit various requirements of plant design. This catalogue
has been written to help the user choose the components for the power pack
required for the specific application. However, the catalogue cannot foresee
all the combinations that may be executed, so in some cases it may be neces-
sary to consult our commercial engineering department.

For applications with very complex circuits, standard modular blocks for Cetop
valves and other special blocks can be installed on the power pack, or blocks
built to order can be included.

A few applications:

Fork lifts

Lifting platforms and beds

Automotive lifts

Cranes for small trucks

Snowplows

Industrial automation (machine tools, food industry, textile industry)

You can chose from a wide variety of components with the following speci-
fications:

e Gear pumps - Group 05/ 1 - from 0.25 to 9.8 cc.

e DC motors, 12/24 V, light-duty service, from 0.35 to 3 Kw

e Single and triple-phase motors with power ratings of up to 4 Kw - in a
standard version or built to the customer's specifications (with minimum
overall dimensions)

e Tanks in sheet steel with capacities of up to 25 litres

e Tanks in plastic with capacities of up to 10 litres

A fundamental part of the power pack is the flange body, which is made of
die-cast aluminum alloy. The parts and dimensions of this component are
shown below.

Operating limits
e |ntermittent operating pressure: 290 bar (depending on pump type)
e Maximum flow rate: 20 |/min
e Maximum operating temperature:
80°C (with sheet steel tank)
70°C (with polyethylene tank)
60 (with polypropylene tank)
Mineral-based hydraulic fluid: 1SO 6743-4 (DIN 51524)
Minimum viscosity: 12 mm?/s
Maximum viscosity: 80 mm?/s
Maximum viscosity at start-up: 500 mm?/s
e Minimum ambient temperature — 15°C
e Maximum ambient temperature 40°C (with peaks of 50°C)

AN

Installation

1) The power pack must be mounted using the M10 holes on the central
body.

2) The power pack must not come into contact with sheet metal, protective
guards or any parts that may vibrate and transmit noise.

3) The ports on the central body have been identified by the letters A — B
—C. The hydraulic connection must be made with fittings with cylindrical
thread and with copper or rubber sealing gaskets (O-rings).

4) After the electrical connections have been made, check the direction of
motor rotation by executing short pulses of 1 second each (max.): the mo-
tor must turn anti-clockwise, as shown in the figure. A B C

K‘@l £
=
o =3
O
® o
/&/
82
M10

The tank must be filled with new mineral-based, ISO 6743/4 fluid: it is impor-
tant to filter the fluid while filling the tank.

Operating pressure is controlled by the maximum pressure valve
(therefore, by the choice of valve), and the type of pump used (in
terms of performance) may be determined by the maximum pres-
sure valve. Therefore, it is essential not to change the maximum
pressure valve. If neccessary, contact our technical service de-
partment.

FP_E/002/2011

yo ’~ brevini

Huid power



lllustration

|z| Available cavities

FPA body FPC body Cavity
C/ AB ABC Ports
1-2-5 1-2-3-4-5 Peripheral cavities
B A 6-7 6-7-8-9 Drain

vertical
installation

horizontal
installation o @P

®

©

©

ILLUSTRATION

With its great modularity, the FP series of power packs can create multiple
configurations which satisfy requirements in a wide range of applications.
To make it easier to choose components, the power pack is subdivided into
sections.

Section | - CENTRAL BODY
This is the base of the power pack where the valves, mator and tank will be
installed.
In its standard versions, the body is available in 2 configurations:

FPA with two 3/4 16 UNF peripheral cavities

FPC with four 3/4 16 UNF peripheral cavities
When choosing the body, the type of maximum pressure valve must be de-
termined. If the valve is not required, the plug used to close the cavity must
be chosen.

Section Il - VALVES
Valves can be chosen to suit the type of flange desired (FPA or FPC).

Section Il - PUM
Gear pumps - Group 05 - 1 with displacement of 0.25 to 9.8 cc.

Section IV - TUBE KIT - code assigned by our office

Section V - TANK
Tanks in sheet steel (with capacity of up to 25 litres) or plastic (up to 10
litres)

Section VI - TRANSMISSION - code assigned by our office

Section VIl - MOTOR
Single or triple-phase AC motors with power ratings of up to 4 Kw, or 12 or 24
VDC motors with power ratings of up to 3 Kw.

Section VIII - POSITION
Position and orientation of power pack installation.

Section IX - ACCESSORIES
Accessories, mounting foot, protection systems, etc.

FP_E/002/2011 3

yo ’~ brevini

fluid power



Selection code (Clhydr-app

Sect. | Sect. Il Sect. Il Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX

G|..

F[x [l [ e e s e e Il

W (LT

Sect. | - Body and maximum pressure valve

Maximum pressure valve with check valve (for regulation)
or plug (in cavity 1)

Body selection

Series FP power pack

v

vv

Sect. Il - Valves installed on body

\—P Separation line (ends Sect. 2)

P | Port plug

ow regulator, if installed (on peripheral cavities 2-5 0 ody,
> VSCO4 fl lator, if installed (i ipheral cavities 2-5 of FPA bod
peripheral cavities 2-3-5 of FPC body)

P | Valves, plugs (and flow regulators on drainage)
P | Cavity used

ol B

e Repeat for each external peripheral cavity in ascending order; cavities 2-5 of FPA body, cavities 2-3-4-5 of FPC
body. Continue for each drain cavity in ascending order, but only if connected to a VCDFO6 flow regulator; cavities
6-7 of FPA body, cavities 6-7-8-9 of FPC body.

Sect. lll - Pump

P|*|*%| % | *|.

Separation line (ends Sect. 3)
Code assigned by our office
Accessories (omit unless required)
Nominal displacement

Pump unit

Pump Field

i

Sect. IV - Tube kit (leave blank, code is assigned by our office)

Separation line (ends Sect. 4)
Code
Tube kit

\ A A4

FP_E/002/2011 4 yé ’~ brevini

fluid power



Selection code (Clhydr-app

Sect. V - Tank

S| [*x| % | % |

Separation line (ends Sect. 5)
Variants (omit unless required)
Orientation

Nominal capacity

Build characteristics

Tank Field

VVVVyY

Sect.VI - Transmission (leave blank, code is assigned by our office)

Separation line (ends Sect. 6)
Code
Transmission Field

A\ A A4

Sect. VIl - DC Motors Sect. VIl - AC Motors

|M|*|*|*|*|/|*|- M| *|*[*][*|/. |-

Separation line (ends Sect. 7)
Code assigned by our office Separation line (ends Sect. 7)
Code assigned by our office Code assigned by our office
Accessories Number of phases

—>
—> —>
—> —>
P | Voltage ——— | Number of poles
—> —>
> >
> >

Shape / Size Versions (power)
Diameter of housing Size and shape
Motor Field Motor Field

Sect. VIII - Position and orientation

* | ¥ | *

Separation line (ends Sect. 8)

Orientation of motor

Orientation of power pack in relation to tank
Position of power pack

A\ A A A4

Sect. IX - Accessories (omit unless required)

P | Type of accessory (in alphabetical order)
P | Accessories field

FP_E/002/2011 5 yo ’~ brevini

fluid power



Sect. | - Central bodies lhydr-app

Sect. | Sect. Il Sect. lll Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX
|FP|*|* **‘Jr**‘P ****/*‘G“‘S *****‘T“‘M****/* ***‘R****
—— P [ Body selection Tab. 1.1

> | Series FP power pack —

Tab. 1.1 Body selection The finished bodies differ in the number of cavities executed (these cavities

Code Perlpl}eral Dra.m Ports are used to contain valves, connectors or plugs)
cavity cavity

There are three types of cavities:

A 125 6-7 A-B - Peripheral cavities, which can be accessed externally.
c 1-2-3-4-5 6-7-8-9 A-B-C - Drain cavities, facing the inside of the tank.
- Ports
FPA body
2
. Executed in the
({ Cavity FPA body Thread
PUMP SIDE O Ports A-B G1/4
TANK Nl - B I - Peripheral
O cavity 1-2 3/4 16 UNF
Peripheral 5 M16x1.5
cavity
1 Drain 6-7 (3/8

/2 05 | PORTSIDE

|77—| Executed in the

C/ Cavity FPC body Thread
PUMP SIDE \® Ports A-B-C G1/4
TANK T [ B - i

Peripheral 1-2-3-4 3/4.16 UNF

cavity

Peripheral 5 M16x1.5

m/ 4 cavity
Drain 6-7-8-9 G3/8

/@ 9@% PORT SIDE
® ®9©

FP_E/002/2011 6 yo ’~ brevini

fluid power




Sect. | - Maximum pressure valve lhydr-app

Sect. | Sect. Il Sect. lll Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX
|FP|*|* **+* _*_ P ****/*_‘G‘“.‘_‘S * | %kX| ¥ *_‘T‘“.‘_‘M * * * */“—)(-_ * * *_‘R * *%*i*i
> Maximum pressure valve with check valve (for regulation)
or plug (in cavity 1) Tab. 1.2
Tab. 1.2 Maximum pressure valve or plug
Code P (bar) Valve Calibration Type Symbol Drawing
A 10 = 60 50 bar o CMPROACOT***
o)
B >60+180 150 bar ‘% CMPR0AC02***
=
c >180+320 210 bar < CMPR0A4CO3***
D 10+ 60 50 bar - CMPRO4PO1*** /7
D |
E >60+180 150 bar Jé CMPR04P02***
F > 180 = 320 210 bar = CMPRO4P03***
X Plug |3:| M[Eﬂ@

D

CMPRO04

CMPRO04

Tappo
Plug

[ B |

CMPRO04

Tappo
Plug

Overall dimensions of cavity - ,,,,+J,,,+ g
(CD018013) o d M
g § 17.5 é
42.5 §

FP_E/002/2011 7 yo ’~ brevini

fluid power



Sect. 1l - Valves for FPA body

lhydr-app

Sect. | Sect. Il Sect. lll Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX
welal | P e e el (s Tk [Tk T ale) Tk [ale ] <~
P | Separation line (ends Sect. 2) —
P | Port plug Tab. 2.5
P | VSC04 flow regulator, if installed (for use with cavities 2-5, only) Tab.2.4
P | Valves, plugs (and flow regulators on drainage) Tab.2.2-(2.3)
P | Cavity used Tab. 2.1
(®) Repeat the codes for each cavity, in ascending order (1***2*** .. etc)

Tah.2.2.4

—

Vo

CMPRO04

,___
|

o
|
1
|
1
|
|
1
[
|

Tab. 2.5 Tab. 2.2.7
T —{Tel—
|_ll Tab. 2.2.6 Tab. 2.4
[ [
N _— Tab. 2.4 :
ﬁ - = b ]
o [N : [N
' o |
1y L Tab. 2.2.7 % @_
TT TT
Tab. 2.2.7 % o ]
= E=I
. o
Ik Tab. 2.2.7 @ @_
11 | |mab 227 @ﬁ 7
Tab. 2.2.7
P —m 2
@ O O CMPRO04
a7 = @) @)

Tah.2.2.8 § i

/1mn |

2

FP_E/002/2011

brevini

y" fluid power



Sect. Il - Valves for FPC body Mhydf-OPP@

Sect. | Sect. Il Sect. Ill Sect. IV Sect. V Sect. VI Sect. VIl Sect. VIl Sect. IX
wlol | Tl [ 7 (6l [T 1 [k Tk e - [rl -
P | Separation line (ends Sect. 2) —
P | Port plugs Tab. 25
P | VSCO4 flow regulator, if installed (for use with cavities 2-3-5, only) Tab.2.4
P | Valves, plugs (and flow regulators on drainage) Tab.2.2-(2.3)
P | Cavity used Tab. 2.1
etc)
Tab.2.2.4
oIy
Tap.227 | Tab.221 {

Tah. 2.2.7
rH—@
Tah.2.2.7
— [f—1nH
Tab. 2.2.7
- l—-—%’%
Tab.2.2.7 Tab. 2.2.7
1 —ffm —{] §—t
Tab.2.2.7 Tab.2.2.7
i
FE=a—{w 0]
Tab.2.2.7
. —TE— 55— |
- =
@Tm Tab, 227
Tab. 2.2.8 ! @———4 .

PP Tab. 2.2.7 e
1l KBy

FP_E/002/2011 9 yo ’~ brevini

fluid power



Sect. Il - List of cavities

lhydr-app

n - Tab. 2.1 Cavity used

Cavity Cavity Thread Valves, plugs, flow regulators, Drawing
code see Table
CD018009
22 5
§ 3ot -
2 Peripheral cavity 3/416 UNF = § £
175 8
2.4 s
66.5
CD018014
2.2 =
3 Peripheral cavity 3/4 16 UNF =, I g
17.5 8§
2.4 305
CD018014
4 Peripheral cavity 3/4 16 UNF 2.2 3 | | i
12 N
17.5 8
30.5
22 T
E* s =
5 Peripheral cavity M16x1.5 12 N
205 S
24 246
34 2
6 Drain G3/8 2.3 i -
15, ]
18.5
7 | Drain G3/8 23 -
23
37
8 |Drain 63/8 23 R
30
9 | Drain 63/8 23 e
27
FP_E/002/2011 10 brevini

<0~

fluid power




Sect. Il - List of valves

lhydr-app

m - Tab. 2.2 Selection index

FPA FPC
Code |Valves/Plugs on cavity on cavity See Tabh.
A.. |Maximum pressure valves — 3 221
B. Undirectional check valves — 3 222
C. Manual controls 2 2-4 223
D ... |Cartridge-type solenoid valves 2 2-4 224
F. Flow control valves — 3 225
H. |Emergency valves 2 2-3-4 2.2.6
T. Plugs and connectors 2-5 2-3-4-5-9 2217
Z. Hand-operated pump 2 2-3-4 228
m - Tab. 2.2.1 Maximum pressure valves (A..)
Code |Description Adjustment onli::city onI-;:PaSity Valve Symbol Drawing
AAA 70 bar max. CMPO4E100*
AAB With short screw 140 bar max. — 3 CMP04E200*
AAC 330 bar max. CMP04E300*
ABA 70 bar max. CMP04C100*
ABB With screw 140 bar max. — 3 CMP04C200*
ABC 330 bar max. CMP04C300*
ACA 70 bar max. CMPO4V100*
ACD With hand wheel 140 bar max. — 3 CMP04V200*
ACC 330 bar max. CMP04V300*
ADA 70 bar max. CMP04P100*
ADB With plug 140 bar max. — 3 CMP04P200*
ADC 330 bar max. CMP04P300*
m - Tab. 2.2.2 Undirectional check valves (B...)
Code |Description Trigger pressure Dni‘:c“y onli:r;Sity Valve Symbol Drawing
BA o 0.5 bar (standard) CRU040000*
pg | Undirectional 45 bar — 3 CRU040400* O Hﬂ]ﬂ@ﬂl
check valve
BC 10 bar CRU041000*
m - Tab. 2.2.3 Manual controls (C..)
Code Press_ufre on side: FPA. FPC_ Valve Symbol Drawing
specifications on cavity | on cavity
CA Without microswitch 2 2-4 CMFO4L*0*
CcB With microswitch (12/24V) 2 2-4 CMFo4AM*0*

FP_E/002/2011

yo ’~ brevini

fluid power



Sect. Il - List of valves

lhydr-app

W - Tab. 2.2.4 Cartridge-type solenoid valves (D..)

Code | PILOTED valves FPA | FPC Valve Symbol Drawing
on cavity | on cavity
DAAA | 12 VDC - Normally closed, without emergency valve CRP0418NCASLO0*
DAAB | 24 VDC - Normally closed, without emergency valve CRP0418NCASMO0*
DAAC | 24 VAC 50 Hz - Normally closed, without emergency valve 2 2-4 CRP0418NCASA00* W—i—mw
l
DAAD | 110 VAC 50 Hz - Normally closed, without emergency valve CRP0418NCASJ00*
DAAE | 230 VAC 50 Hz - Normally closed, without emergency valve CRP0418NCASI00*
DBAA | 12 VDC - Normally closed, with emergency valve CRP0418NCAEL0O* —
DBAB | 24 VDC - Normally closed, with emergency valve CRP0418NCAEMO00*
DBAC | 24 VAC 50 Hz - Normally closed, with emergency valve 2 2-4 CRP0O418NCAEA00* W@Iﬁm
DBAD | 110 VAC 50 Hz - Normally closed, with emergency valve CRP0418NCAEJ00*
DBAE | 230 VAC 50 Hz - Normally closed, with emergency valve CRP0418NCAEI00*
DCAA | 12 VDC - Normally open, with emergency valve CRPO418NAAELOO*
DCAB | 24 VDC - Normally open, with emergency valve CRP0O418NAAEMOO*
DCAC | 24 VAC 50/60 Hz (RAC) - Normally open, with emergency valve ) 24 CRP0418NAAE200* Supplied ;’Vith
3 W T kw connector
DCAD | 110 VAC 50/60 Hz (RAC) - Normally open, with emergency valve CRP0418NAAEZ00* code no.
DCAE | 230 VAC 50/60 Hz (RAC) - Normally open, with emergency valve CRPO418NAAEX00* V86005r0002
DCAF | 48 VDC - Normally open, with emergency valve CRP0418NAAENOQO* /86200002 (RAC)
Code |Directly operated valves FPA. FPC_ Valve Symbol Drawing
on cavity | on cavity
DDAA | 12VDC CRDO418NCAEL0O*
2 2-4
Supplied with
DDAB | 24VDC CRDO418NCAEMO00* connector
code no.
V86050002
m - Tab. 2.2.5 Flow control valves (F.)
Code | Bidirectional NON-COMPENSATED FPA | FPC Valve Symhol Drawing
on cavity | on cavity
FAA Adjusted with wrench CSB04co0*
_ 3 L
FAB With hand wheel CSB04voo*
Code | Bidirectional COMPENSATED FPA | FPC Valve Symhol Drawing
on cavity | on cavity
FBA Adjusted with wrench CSCco4coo*
— 3
FBB Adjusted with handwheel CSCo4vo0*
m - Tab. 2.2.6 Emergency valves (H..)
Code | Control FPA. FPC. Valve Symbol Drawing
on cavity | on cavity
HA | With pushbutton 2 234 CPEO4POD* MK
FP_E/002/2011 12 brevini

<0~

fluid power



Sect. Il - List of plugs

lhydr-app

n - Tab. 2.2.7 Plugs and connectors (T.)

e FPA FPC .
Code |Description on cavity | on cavity Symbol Drawing
G1/4 IV 24
=3 s 2530 Nm
Long connector S - |
TR 13/416 UNF-G1/4 2 234 5 L]
N
|| 34-16 UNF
= S\ 24
f S 25-30 Nm
Plug L Sl «
T8 3416 UNF 2 234 T g
= 1 3/4-16 UNF
. e O\ 24
3 25-30N
7c | Plug forVSCO4 valve B 9 L g ™ m
3/4 16 UNF T &
== 3/4-16 UNF
_ GiM"
™ Connector ) 2.3-4 é d‘; P 2% igN
3/4 16 UNF - G1/4 S o
& | | 3m-16 UNF
d\ 24
, = 25-30 Nm
Long plug N il )
TE | 3416UNF 2 234 T g
' o O12.7
| 3/4-16 UNF
G1/4
. Q) 24
L | i § Q& 25-30 Nm
ong piug a S
TF 3/4 16 UNF - G1/4 2 234 T S
< [T @127
! 3/4-16 UNF
. 3 D 16,4 w 8
1 S 25-30N
16 Plug for VSCO04 valve 5 5 g f m
M16x1.5 T o E
! =
= | | M16x1.5-69
@164 % 8
= 25-30 Nm
T =
TH Long plug . 5 3
M16x1.5 T 2
' =
: S Vs
1 S ‘ R
TL Plug _ 9 § F 25-30 Nm
G3/8 T o’\o
' = G3/8
G1/4_
. ) 24
S @ ['# ?\'H 25-30 Nm
3/4 16 UNF plug - 8 1
LU RN 2 2-3-4 =
N
- | 1l @127
3/4-16 UNF

FP_E/002/2011

yo ’~ brevini

fluid power



Sect. Il - List of plugs and valves lhydr-app

n - Tah. 2.2.8 Manually operated pumps (Z.)

FPA FPC

Code |Displacement on cavity | on cavity

Valve Symbol Drawing

ZA 1cc CPM041*00*

2 2-3-4

ZB 2cc CPM042*00*

n - Tab. 2.3 Flow regulator on drain cavity

Code ::/I:Iﬁ rate onFcF;I:ity onFc:Sity Valve Symbol Drawing
c |20 67 6-7-89 VCDFOBO1*
E |30 67 6-7-89 VCDF0B02*
G |45 67 6-7-89 VCDF0B03* _
K |60 67 67-8-9 VCDF0B04* l
N |75 67 6789 VCDF0B06* ‘911 (3
a |95 67 6789 VCDF0608*
U120 67 6789 VCDFOB11*
v 150 67 6789 VCDF0616*

- Tab. 2.4 Flow regulator on peripheral cavities

Flow rate FPA on FPC on .
Code \/min cavity* cavity* Valve Symbol Drawing
+B 1.4 2-5 2-3-5 VSC04010*
+C 2.1 2-5 2-3-5 VSC04020*
+E 3.1 2-5 2-3-5 VSC04030*
+6 |42 2-5 2-3-5 VSC04040* res _
- = 1=
+J 5.0 2-5 2-3-5 VSC04060 N
+L 6.4 2-5 2-3-5 VSC04080*
+N 73 2-5 2-3-5 VSC04110*
+Q 9.3 2-5 2-3-5 VSC04160*
(*)  In cavity 3, usable only with plug TC
In cavity 5, usable only with plug TG
n - Tab. 2.5 Port plugs
Cl this port... ... on thi k
Code A 9588 Bls po c F:;]-\ & poweer:(;: Symbol Drawing Cavities A-B-C

-A ° — — — °
_B . ° . ° ° I = : 218 S . G1/4

T S i&: 25-30 Nm !
-C — — ° — ° N o |

T s ° " . L 1
-D — ° ° — ° - Sr\mso 228 m
-N No closure ° °

FP_E/002/2011 14 yo ’~ brevini

fluid power



Sect. Il - Pumps

lhydr-app

Sect. | Sect. Il Sect. lll Sect. IV Sect. V Sect. VI Sect. VIl Sect. VIl Sect. IX
‘FP** **---+*'*'Pl*l**l*ll*l"G‘---"‘S *****‘TH‘M****/* ***-‘R RIS
Separation line (ends Sect. 3) —
— | Code assigned by our office —
P | Accessories (omit unless required) Tab. 3.2
——— | Nominal displacement
L | Pump unit
P | Pump Field —
Pump unit
Code Type See Tah.
0 Group 05 311
1 Group 1 312
Nominal displacement
Code GR 05 GR1
(See Tah.3.1.1) (See Tah.3.1.2)
02 0.25¢cc —
04 0.45cc —
05 0.56 cc —
07 0.75¢cc 0.80cc
09 0.92 cc 0.90¢cc
10 — 1.00 cc
12 1.20cc 1.20 cc
17 — 1.70 cc
22 — 2.20cc
26 — 2.60 cc
32 — 3.20cc
38 — 3.80cc
43 — 430 cc
48 — 480 cc
60 — 6.00 cc
63 — 6.30 cc
18 — 7.80cc
98 — 9.80 cc

FP_E/002/2011

<0~

brevini

fluid power



Sect. Il - Pumps

lhydr-app

nnw - Tab. 3.1.1 Selection of DISPLACEMENT of pumps in Group 05 (with adapter)

Nominal Tolerance on geometric P2 P3 L1
Code . .
displacement displacement bar bar mm
02 0.25¢cc 0.20+0.30 56
04 0.45¢cc 0.40 +0.50 63
05 0.56 cc 0.50+0.60 64
230 250
07 0.75¢cc 0.70+0.80 66
09 0.92cc 0.85+0.95 67
12 1.20 cc 1.10+1.30 69
P2 = Intermittent operating pressure
P3 = Intermittent peak pressure (20 sec. max) 5
| NI
o By )
L1
P 1[**] * |- Tab. 3.1.2 Selection of DISPLACEMENT of pumps in Group 1
Nominal Tolerance on geometric P2 P3 L1
Code . .
displacement displacement bar bar mm
07 0.80 cc 0.70+0.80
09 0.90 cc 0.85+0.95 230 250
10 1.00 cc 0.96 +1.09
12 1.20 cc 1.10+1.30
17 170 cc 1.50+1.70
22 2.20 cc 2.10+2.30
26 260 cc 250+2.70 250 290 depends
2 320 cc 3.1023.30 on type of
pump
38 3.80cc 3.60+380
43 430 cc 4.00+4.40
48 4.80 cc 460 +5.00 210 250
60 6.00 cc 5.50+5.90 190 210
63 6.30 cc 6.00+6.40 190 210
18 7.80 cc 7.50+7.90 150 170
98 9.80 cc 9.60+10.00 100 —
P3 = Intermittent operating pressure
P3 = Intermittent peak pressure (20 sec. max) 5 ©
| B )
I % O

AN

If lower pressure values are required, pumps with perfor-
mance that is suitable at the required pressures may be

used.

L1

FP_E/002/2011

yo ’~ brevini

fluid power



Sect. Il - Pumps lhydr-app
ﬂnn - Tah. 3.2 Selection of ACCESSORIES for pumps in Group 1

Code |Accessory Description Valve Symbol Drawing
A VAM 0.8 = 2.5 |/min VAMO0400LQ ‘
P
p | Audliay VAM over 25= 80 /min | VAMO40OMQ % -
outlet
T
C VAM over 8.0 = 14 |/min VAMO0400HQ
69
©
Auxiliary I m— i @
D | VAMS with hole @ of 0.4 mm | VAMS040400 el aEal % sl K} ]
12.5
Note: accessories can be installed only on pumps equipped Available pumps
with an auxilary outlet with G1/4" thread.
For further details, contact our office. Cod Nominal P2 P3
ode displacement bar bar
12 1.20 cc
P2 = Intermittent operating pressure 17 170
P3 = Intermittent peak pressure (20 sec. max) Juce
22 2.20 cc
If lower pressure values are required, pumps with perfor- 26 2.60 cc 250 290
mance that is suitable at the required pressures may be Pi1 32 320 cc
used. .
38 3.80 cc
43 430 cc
48 4.80 cc 210 250

FP_E/002/2011 17 yo ’~ brevini

fluid power



Sect. V -Tanks

lhydr-app

Sect. | Sect. Il Sect. Il Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX
‘FP* * **‘_‘_* _*_‘P ****/*_ G‘.“_lsl*l**l*l*l_ T‘.“_ * * * */”-X-_ * * *_ R * *i*i*i
\—D Separation line (ends Sect. 5)
—— | Variants (omit unless required)
L | Orientation
> | Nominal capacity
P | Build characteristics
Build specifications P> [Tank Field
Code | Specifications Tables
1 In sheet steel, with @ 123 mm 51-52-53 . o
2 | Insheet steel, with 8 175 mm 54-55-56 Nominal capacity (litres)
3 In sheet steel, with @ 200 mm 57-58-59 Code 12 E“"d cﬁaract:nshcsé ;e
4 In sheet steel, with @ 217 mm 510-5.11 01 1L
5 In sheet steel, rectangular 5.12-5.13-5.14-5.15 02 1 151
Natural polypropylene,
6 square (180 x 180 mm) 516 03 sl 251
04 4L | 4L
7 Natural polyethylene, 517
square (140 x 130 mm) ' 05 5L | 5L 5L
8 Natural polyethylene, 518-519 06 6L
square (180 x 180 mm) ‘ ' 07 7L 7L 7L
Collar in weldable sheet steel, 08 8L | 8L
C . _
without tubes 09 9L
X Without tank, without tubes — 10 10L110L 10L
12 12L
14 14L
15
25 251
1016 (Collar 25000300)
Q Orientation
Code |Description
4 HOLES M6 26 H Horizontal
. v Vertical
Installation:
- 4 screws, M6x45 UNI 5931 (Q26074091)
- 0-ring, 110, 72x3.53 (Q25830248)
Variants
ann C |- Collarin welded sheet steel, with tubes
Code |Description
‘ C With weldable collar, with tubes
To identify the tubes, it is necessary to fill in the first part of . .
the field, which identifies the tank (even if the tank will not X | Without tank, with tubes
be supplied). Variants in the position and type of plugs on the
‘ standard tank
Bnmnn - Without tank, with tubes

FP_E/002/2011

<0~

brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.1 Tanks in sheet steel 9 123 - 1 litre

L Capacity (litres) ]
Code | Description ) Drawing
Nominal Full Usable
14
STANDARD /@
Horizontal Installation —% N
[s¢]
H Cataphoretic paint finish in semi- 1 1 0.7 ) B g
matt black (primer) i
(22000900) 141
101
STANDARD
Vertical Installation
v Cataphoretic paint finish in semi- 1 0.9 0.7 |
matt black (primer)
—— (60502700)
(22000900)
Installation:
- 4screws, M6x45 UNI 5931 (026074091) @) |TCS  Fill plug with breather G1/2" 49149800
- 0-ring, 110.72x3.53 (025830248)
FP_E/002/2011 19 yo brevini
I fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.2 Tanks in sheet steel 8123 - 2 litres

o Capacity (litres) i
Code | Description ) Drawing
Nominal Full Usable
14
STANDARD /@
Horizontal Installation & I
[sg}
H Cataphoretic paint finish in semi- 2 1.6 1.5 T - g
matt black (primer) b
(22000400) 200
STANDARD ‘
Vertical Installation i
v Cataphoretic paint finish in semi- 2 1.6 1.5
matt black (primer)
(60502700)
(22000400)
Installation:
- 4screws, M6x45 UNI 5931 (026074091) @) |TCS  Fill plug with breather G1/2" 49149800
- 0O-ring, 110.72x3.53 (025830248)

FP_E/002/2011

20

yo ’~ brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.3 Tanks in sheet steel @ 123 - 3 litres

L Capacity (litres) ]
Code | Description ) Drawing
Nominal Full Usable
330
STANDARD 137
Horizontal Installation
H Cataphoretic paint finish in semi- 3 3 2.8 T -
matt black (primer) L _ _ _ d
Q
(22000500) =
—
STANDARD
Vertical Installation
(60502700)
Vv Cataphoretic paint finish in semi- 3 2.9 2.9
matt black (primer)
(22000500)
Installation:
- 4screws, M6x45 UNI 5931 (026074091) @) |TCS  Fill plug with breather G1/2" 49149800
- 0O-ring, 110.72x3.53 (025830248)

FP_E/002/2011

21

yo ’~ brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.4 Tanks in sheet steel @ 175 - 5 litres

L Capacity (litres) ]
Code | Description ) Drawing
Nominal Full Usable
@)
51
STANDARD :
Horizontal Installation
[Te)
N~
H Cataphoretic paint finish in semi- 5 4.7 4.5 Q
matt black (primer)
(22000100 25 :
246
7007
STANDARD
Vertical Installation
Vv Cataphoretic paint finish in semi- 5 4.3 4.1
matt black (primer)
(60502700)
(22000100) D)t ———
7070
Bnmmn - Tab. 5.4.1 Variants - Horizontal Installation
Code Drawing Code Drawing
49107500 g
A I | L _ _
)
v o @ 7777,
@ 60306400 49121900 (%
i
() ()
77 U v 7
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (Q26074091)
- O-ring, 110.72x3.53 (025830248) € 1S Drain plug, G1/2" R78100021

FP_E/002/2011

22

<0~

brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.5 Tanks in sheet steel @ 175 - 6 litres

L Capacity (litres) ]
Code | Description ) Drawing
Nominal Full Usable
51
STANDARD .
Horizontal Installation
%o
| I || _ N~
H Cataphoretic paint finish in semi- 6 6 5.9 Q
matt black (primer)
(22000800) 25 O
308
707
127
STANDARD
Vertical Installation
v Cataphoretic paint finish in semi- 6 5.8 5.5
matt black (primer) (60502700)
(22000800)
A _
¥ N——
707
Bnmmn - Tab. 5.5.1 Variants - Horizontal Installation
Code Drawing
49107500
D L —
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (026074091)
- 0-ring, 110.72x353 (025830248) € TS Drain plug, 61/2" R78100021
FP_E/002/2011 23 yo brevini
I fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.6 Tanks in sheet steel @ 175 - 8 litres

o Capacity (litres) i
Code | Description ) Drawing
Nominal Full Usable
0
STANDARD w’
Horizontal Installation - - ‘"v:’
)
H Cataphoretic paint finish in semi- 8 8 7.3 Jl
matt black (primer)
@ |,
(22000700) 870
/4
127
b n—
STANDARD |
Vertical Installation
v Cataphoretic paint finish in semi- 8 7.5 7.2 (80502700)
matt black (primer)
(22000700)
/4
Bnmmn - Tab. 5.6.1 Variants - Horizontal Installation
Code Drawing
439107500 /—(:)
[y
D | _ 1
@~ s
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (Q26074091)
- O-ring, 110.72x3.53 (025830248) € 1S Drain plug, G1/2" R78100021
FP_E/002/2011 24 yo brevini
I fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.7 Tanks in sheet steel 8 200 - 5 litres

Code

Description

Capacity (litres)

Nominal

Full

Usable

Drawing

STANDARD
Horizontal Installation

Cataphoretic paint finish in semi-

matt black (primer)

(M72210005)

5.3

STANDARD
Vertical Installation

Cataphoretic paint finish in semi-

matt black (primer)

(M72210005)

4.6

4.3

Installation:

- 4 screws, M6x45 UNI 5931 (026074091)
- 0-ring, 110.72x3.53 (Q25830248)

TCS  Fill plug with breather, G1/2"

49149800

TS Drainplug, G1/2"

D

R78100021

FP_E/002/2011

25

yo ’~ brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.8 Tanks in sheet steel @ 200 - 8 litres

L Capacity (litres) .
Code | Description ) Drawing
Nominal Full Usable
STANDARD
Horizontal Installation
H Cataphoretic paint finish in semi- 8 8 7.7 3
matt black (primer) s
(SPS3398X.001)
STANDARD Iilg"
Vertical Installation ‘ 7
V | Cataphoretic paint finish in semi- 8 75 7.1 |
matt black (primer) ‘
N— ,,},
|
(SPS3398X.001) —
707
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (Q26074091)
- O-ring, 110.72x3.53 (025830248) € 1S Drain plug, G1/2" R78100021

FP_E/002/2011

26

yo ’~ brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.9 Tanks in sheet steel 8 200 - 10 litres

Code

Description

Capacity (litres)

Nominal

Full

Usable

Drawing

STANDARD
Horizontal Installation

Cataphoretic paint finish in semi-

matt black (primer)

(M72210001)

9.3

STANDARD
Vertical Installation

Cataphoretic paint finish in semi-

matt black (primer)

(M72210001)

9.5

:

Installation:

- 4 screws, M6x45 UNI 5931 (026074091)
- 0-ring, 110.72x3.53 (025830248)

TCS  Fill plug with breather, G1/2"

49149800

TS Drainplug, G1/2"

D

R78100021

FP_E/002/2011

27 _®/° ’~ brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.10 Tanks in sheet steel 9 217 - 10 litres

L Capacity (litres) ]
Code | Description ) Drawing
Nominal Full Usable
72
-2 @
STANDARD
Horizontal Installation AK
N~
H Cataphoretic paint finish in semi- 10 8 7.6 7] - - 8
matt black (primer) jk % o
!
(22001000) \_@
273 e
STANDARD
Vertical Installation /::\
v Cataphoretic paint finish in semi- 10 7 6.8
matt black (primer)
(49108800)
(22001000 !
o
7
Installation: @) |TCS  Fill plug with breather, G3/4" 49105800
- 4 screws, M6x45 UNI 5931 (026074091)
- O-ring, 110.72x3.53 (025830248) € TS Drain plug, G3/4° 20018500

FP_E/002/2011 28

yo ’~ brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bnmn - Tab. 5.11 Tanks in sheet steel 8 217 - 12 litres

Code

Description

Capacity (litres)

Nominal

Full

Usable

Drawing

STANDARD
Horizontal Installation

Cataphoretic paint finish in semi-

matt black (primer)

(22003800)

220

g1

L

150

N

2@

@217

370

STANDARD
Vertical Installation

Cataphoretic paint finish in semi-

matt black (primer)

(22003800)

10.3

10.1

167

(49108800)

/4

Installation:

- 4 screws, M6x45 UNI 5931 (026074091)
- 0-ring, 110.72x3.53 (025830248)

TCS  Fill plug with breather, G3/4"

49105800

D

TS

Drain plug, G3/4"

20018500

FP_E/002/2011

29

<0~

brevini

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bﬂmn - Tab. 5.12 Rectangular tanks in sheet steel - 7 litres

L Capacity (litres) ]
Code | Description : Drawing
Nominal Full Usable
,77
5 S
- o
&
3
| & N N ]
STANDARD 3 v -
Vertical Installation VA @ A
v Cataphoretic paint finish in semi- 7 5.5 5.1 215.5
matt black (primer) 11104
(22001200)
EEE
e} <
Bﬂmnn - Tab. 5.12.1 Variants - Vertical Installation
Code Drawing
49107500 /_@
[ur
A
@/ @
S Z
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (026074091)
- 0-ring, 110.72x353 (025830248) € TS Drain plug, 61/2" 49154200
FP_E/002/2011 30 yo brevini
I fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bﬂmn - Tab. 5.13 Rectangular tanks in sheet steel - 9 litres

L Capacity (litres) .
Code Description - Drawing
Nominal Full Usable
D o
3 @
— m N
N2
STANDARD Vi \—@
Vertical Installation 211 25
N
v Cataphoretic paint finish in semi- 9 8.6 7.5 @
matt black (primer) KW 2
L A,
(22007800) &J “
236
350
Bﬂmmn - Tab. 5.4.1 Variants - Horizontal Installation
Code Drawing
|
A ) ) m} j )
1
Wz
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (Q26074091)
- 0-ring, 110.72x3.53 (0125830248) € TS Drain plug, G1/2 R78100021
FP_E/002/2011 31

yo ’~ brevini

fluid power




Sect. V -Tanks in sheet steel

Bﬂn - Tab. 5.14 Rectangular tanks in sheet steel - 14 litres

Capacity (litres)

matt black (primer)

(22002200

13 7 Fﬁ

Code Description - Drawing
Nominal Full Usable
= T T
2 o L L/
[ ool A6
IANZd
o ‘@
STANDARD a6
Vertical Installation =
205
v Cataphoretic paint finish in semi- 14 14 20

75 73

Bﬂmun - Tab. 5.14.1 Variants - Vertical Installation

Code Drawing
F@ 49107500
@’_]
A l
L©
707
Installation: @) |TCS  Fill plug with breather, G1/2" 49149800
- 4 screws, M6x45 UNI 5931 (026074091)
- O-ring, 110.72x3.53 (025830248) € TS Drain plug, G1/2 49154200
FP_E/002/2011 32 brevini

<0~

fluid power



Sect. V -Tanks in sheet steel

lhydr-app

Bﬂmn - Tab. 5.15 Rectangular tanks in sheet steel - 25 litres

L Capacity (litres) .
Code Description - Drawing
Nominal Full Usable
19 46
e
[/ @
L
STANDARD E { A
Horizontal Installation
4 —
H Cataphoretic paint finish in semi- 25 22 21 —16.5n04 &
matt black (primer) g% o] A T
i (}
(22004200) - 1—%& ::ﬁ ::
i -
€
_ 74‘367 ! 3 s
< 474 (16) <
e
© 100 C »Iﬁ« 9
|
[0 : 1, [IBLE
STANDARD S
Vertical Installation &
. . . T 165004 o
v Cataphoretic paint finish in semi- 25 25 22 <
matt black (primer) @m gﬁ@ &R
(22004100) T w - - g B
436 &
(16) 474 (16)
506

Bﬂmmn - Tab. 5.15.1 Variants - Horizontal Installation

Bﬂmnn - Tab. 5.15.2 Variants - Vertical Installation

Code Drawing Code Drawing
49120600 49120600 @
! © ! @n
Y 1
700
Installation: @) |TCS  Fill plug with breather, G1° 1/4 49118000
- 4 screws, M6x45 UNI 5931 (026074091)
- O-ring, 110.72x3.53 (025830248) € TS Drainplug, 61" 1/4 20022600
FP_E/002/2011 33 yé brevini
I fluid power



Sect. V -Tanks in polypropylene

lhydr-app

Bﬂﬂﬂ - Tah. 5.16 Square polypropylene tanks 180x180 - 5/ 7 litres

- 4 brackets, (61016600)
- 0-ring, 110.72x3.53 (025830248)

. Capacity (litres) L .
Code Description - Drawing
Nominal Full Usable (mm)
05 | H 5 5.4 4.5 242 @_\
T A _
(I
STANDARD 8 o
Horizontal Installation LL gl g
4 o o
Natural polypropylene S D
Operating temperature: L
-10++60 °C L
000
07 H 7 7.4 6.5 306
5 litres: 61211000
7 litres: 61209400
Capacity (litres
Code Description - pacity | ) L Drawing
Nominal Full Usable (mm)
90 105
05 |V 5 5.4 4.5 242 ——7
STANDARD
Vertical Installation ! B
Natural polypropylene SN N
Operating temperature: —— =N - - -
-10 = +60 °C 1 J
v/
07 | V 7 7.4 6.5 306
5 litres: 61211000
7 litres: 61209400
Installation:
- 4 screws, M6x45 UNI 5331 (026074091) @) | TCS  Fill plug with breather, 0 18 49138700

FP_E/002/2011

34

yo ’~ brevini

fluid power



Sect. V -Tanks in polyethylene lhydr-app
Bﬂﬂﬂ - Tab. 5.17 Square polyethylene tanks 140x130 - 1.5/3/ 4 litres

L Capacity (litres) L .
Code Description - Drawing
Nominal Full Usable | (mm)
02 | H 15 3 T | 3% | veos13005 (6 3/4") (@) C86100001 (61/2")
r_ﬁ
STANDARD Vs e = )
Horizontal Installation Kﬁ
[=]
- T T — <
03 | H Natural polyethylene 25 2.5 2 235 o j -
Operating temperature: . L )
-10++470°C
L 130
T
04 H 4 3.4 2.5 295 1.5 litres: M72150150
3 litres: M72150151
4 litres: M72150152
Capacity (litres
Code Description - pacity | ) L Drawing
Nominal Full Usable | (mm)

02 | V 1.5 1.1 0.7 135 /_@ 86200002 (D.18)

STANDARD ”:‘yﬂﬂuﬂnung %

Vertical Installation -
03V Natural polyethylene 25 2.7 2.3 235 -
Operating temperature:
-10++70°C ! N

&) TCNBO80O (G 1/2")

7207

1.5 litres: M72150150
3 litres: M72150151
4 litres: M72150152

04 |V 4 3.5 3.1 295

Installation:

- 4 screws, M6x45 UNI 5931 (026074091)
- 1 clamp, (25004800)

- 4 nuts, M6 UNI 6923 (026580003)

- special gasket (61212400)

FP_E/002/2011 35 yo ’~ brevini

fluid power



Sect. V -Tanks in polyethylene

lhydr-app

Bﬂﬂﬂ - Tab. 5.18 Square polyethylene tanks 180x180 - 4 litres

. Capacity (litres) .
Code Description - Drawing
Nominal Full Usable
86100001 (G 1/2")
35
V60513005 (G 3/4") I~
STANDARD o
Horizontal Installation S 8
04 | H Natural polyethylene 4 3.6 3 | T E
Operating temperature: 0
-15++470°C
210 \
TCNBO08OO (G 1/2") 777
4 litres: FB0075004
L Capacity (litres) )
Code Description - Drawing
Nominal Full Usable
@_\(386200002 (D.18)
STANDARD = Eé
Vertical Installation . -
04V Natural polyethylene 4 3.7 3
Operating temperature:
-15++70°C
|
TCNB0800
(G 1/2") 777,
4 litres: F80075004
Installation:
- 4 screws, M6x45 UNI 5931 (026074091)
- 1 clamp, (25004800)
- 4 nuts, M6 UNI 6923 (026580003)
- special gasket (61212400)
FP_E/002/2011 36 brevini

<0~

fluid power



Sect. V -Tanks in polyethylene

lhydr-app

Bﬂﬂﬂ - Tab. 5.19 Square polyethylene tanks 180x180 - 7 /10 litres

- 4 screws, M6x45 UNI 5931 (026074091)
- 1 clamp, (25004800)

- 4 nuts, M6 UNI 6923 (Q26580003)

- special gasket (61212400)

. Capacity (litres) L .
Code Description - Drawing
Nominal Full Usable | (mm)
C86100001 (G 1/2")
07 | H 6.7 55 | 310 @—\ s
STANDARD ’— o
Horizontal Installation 8 = : e 2
- Z Iz
Natural polyethylene = H ) \\J 171 %
Operating temperature: i = N KJ 8
-15+ 470°C ; ; » Bt ‘
L \ ‘ 20 180
10 H 8.7 7.5 410
V60513005 (G 3/4") 77
7 litres: F80105002
10 litres: F80125002
Capacity (litres
Code Description - pacity | ) L Drawing
Nominal Full Usable | (mm)
C86200002
07 Vv 6.7 6 310
STANDARD
Vertical Installation
Natural polyethylene TCNBQBOO
Operating temperature: (G1/2')
15:470°C /@
10 Vv 9.8 9 410
\_@ V60513005
07 (63/4) 7 litres: F80105002
10 litres: F80125002
Installation:

FP_E/002/2011

37

<0~

brevini

fluid power



Sect. VII - DC Motors

lhydr-app

Sect. | Sect. Il Sect. lll Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX
L]
Motor Fields —
Diameter of housing — |4
Shape / Size — | ¢—
Voltage — | 4—
Accessories Tah.72 | ———
Codes assigned by our office — |«
Separation line (ends Sect. 7) — |4
Diameter of housing
Code Diameter
(mm)
1 80
114
125
Shape / Size
Type and shape of motor
Voltage
Voltage
Code (VDC)
2 12
4 24
é 2 D inti Nominal See
s escripfion power Tab.
55 =2
1A2 @80 12VDC 350 W 7.1.1
1A4 @80 24\VDC 400 W 7.1.2
1B 2 @80 12VDC 700 W 7.1.1
1B 4 @80 24VDC 800 W 7.1.2
2A2 014 12VDC 1500 W 7.1.3
2A4 014 24VDC 2000 W 7.1.4
2B2 014 12VDC 1600 W 7.1.3
2B4 014 24VDC 2200 W 7.1.4
3A4 (0125 24VDC 3000 W 7.1.5
* * X | Without motor, with transmission (®) —
X Without motor, without transmission —
(*)NOTE: to order a transmission, the first part of the field (which identifies
the motor) must be filled out, even if the motor will not be supplied.
FP_E/002/2011 38 yo brevini
I fluid power



Sect. VII - DC Motors Clhydr-app
mnnn - Tab. 7.1.1 Permanent magnets, light-duty service - 8 80 - 12 VDC

Data shown on ID plate
Code - Part code
vDC A w RPM Nm | S2min. | S3% | IP A\ Ic
A 12 40 350 3300 1.0 10 35 54 F 24010700
B 12 90 700 3300 2.0 2.5 10 54 F 24009500
mnnn - Tab. 7.1.2 Permanent magnets, light-duty service - 0 80 - 24 VDC
Data shown on ID plate
Code - Part code
vDC A w RPM Nm S2min. | S3% | IP A\ Ic
A 24 30 400 3100 1.2 5 20 54 F 24010800
B 24 70 800 3000 2.5 2 5 54 F 24009600
Overall dimensions of @ 80 12-24 VDC motors
w1 [a] "]
Shape / Size i
5 | 1
3 «E - - - —H -8
S Q
) —%EE[ || <
©
C\! |
:; -
s
1435 13.80 MAX
wli (]| :
Shape / Size ~
8l [ - - - 3
SN S
o | <
Ll ©
162 13.80 MAX

* | % . IP protection level becomes effective after installation on power pack body.
..n - Accessories &

Code |Description
- - Installation:
A | Without accessories (standard) - 2 screws, M6x20 UNI 5931 (40007300)
B With power relay - gasket (61200800)

FP_E/002/2011 39 yo ’~ brevini

fluid power



Sect. VIl - DC Motors

lhydr-app

mEnE - Tab. 7.1.3 Wound fields, light-duty service - 8 114 - 12 VDC

Data shown on ID plate
Code - Part code
vDC A w RPM Nm | S2min. | S3% | IP A\ Ic
A 12 225 1500 2500 5,5 1 5 54 F 24007500
B 12 230 1600 2600 5 2 10 54 F 24010600
M 2[*]4] *|- Tab. 7.1.4 Wound fields, light-duty service - @ 114 - 24 VDC
Data shown on ID plate
Code - Part code
vDC A w RPM Nm S2min. | S3% | IP A\ Ic
A 24 150 2000 2250 8 2 5 54 F 24007700
B 24 140 2200 270 8 1.2 5 54 F 24010900
Overall dimensions of @ 114 12-24 VDC motors
9.1 MAX

mi2[a]-]]

Shape / Size

—f

@112
&35

| -
o —

12.3 MAX

mi2[8] "]

9.1 MAX
Shape / Size
(&)
s
S x
s
° 7 |
123 MAX 158 11420 UNC2A
90.4 |
n - Accessories
Code |Description M2A | M2B See
P Tab.
A Without accessories (standard) o °
B With power relay o °
c With thermal protection device ° A IP protection level becomes effective after installation on
D & With ventilation ° 7.2 power pack body. Acquires IP 10 level with "ventilation”
E With relay + thermal protection device ° aceessory:
. I Installation:
F With rel tilat ° 1.2 ) .
A l reiay v vene l_on - — - 2 tensioners, 1/4 UNC (supplied)
G With thermal protection device + ventilation o - gasket (61200100)
H /\ | With relay + thermal protection device + ventilation ° 1.2 - spacer (60507900)
FP_E/002/2011 40 brevini

y" fluid power




Sect. VIl - DC Motors

lhydr-app

mann - Tab. 7.1.5 Wound fields, light-duty service - 8 125 - 24 VDC

Data shown on ID plate
Code - Part code
vDC A w RPM Nm | S2min. | S3% | IP A\ Ic
A 24 200 3000 3300 8.5 4 15 20 F 25011600
Overall dimensions of @ 125 -24 VDC motors
w3 [a]-]"]
Shape / Size
1285
BN N -
o ° 3358 i
5 q sssdl| / \
~ Ay 0000
o ) 0000 - ( f@§ w
0000 o -
8 0000|] | < %’&1
wn
0000 %
Y 0000
. 0000
118
434MAX | 2075
Standard motor 24011300
Adapter” 61018900
* not used with ventilation
n - Accessories
. See
Code |Description Tab.
A Without accessories (standard)
B With power relay
. : . IP protection level becomes effective after installation on power pack body.
c With thermal protection device Acquires IP 10 level with "ventilation” accessory.
D /N\ | With ventilation 72
E With relay + thermal protection device Installation:
F /N\| With relay + ventilation 7.2 - 4 screws, M8x28 (40011500)

FP_E/002/2011

4

yo ’~ brevini

fluid power



Sect. VIl - DC Motors

lhydr-app

mnnnn - Tab. 7.2 Table listing accessories for light-duty DC motors

Code |Description M1A M1B M2A M2B M3B
Without accessories (standard) . . . ° . =
B With power relay o o J . o =
C With thermal protection device . * g
. - £
D With ventilation o . 8
E With relay + thermal protection device o ° g
F With relay + ventilation ° ° =
G With thermal protection device + ventilation o °
H With relay + thermal protection device + ventilation ° °
Overall dimensions with ventilation
9 (N°4)
A -
®
X o 0y
Installation:
® - 4 screws, M8x28 (40011500
/A - adapter ring (39116000)
N - spacer (60507900)
IP10 level of protection:
Motor including transmission joint
9 (N°4)
BN
- 33331
3833
OO0O0O0
0000
o 22sels
- 0000
0000
0000
0000
Q000

Installation:

- 4 screws, M8x28 (40011500)
- adapter ring (39116000)

- joint (M36050016)

IP10 level of protection:

FP_E/002/2011

42

yo ’~ brevini

fluid power



Sect. VIl - AC Motors Iﬁlhydr-opﬁ

Sect. | Sect. Il Sect. Il Sect. IV Sect. V Sect. VI Sect. Vil Sect. VIl Sect. IX

‘FP-X- * **‘_‘_* _*_‘P ****/*_‘G‘.“_ S * XX | ¥ *_ T‘.“_ M|*|*|*|*|l"|*|_ * * *_ R * *i*i*i
L]
Motor Fields
Size and shape <4+—
Versions (power) 4+—
Number of poles 4+——
Number of phases <4—
Codes assigned by our office <4
Separation line (ends Sect. 7) <
Number of phases
Code Phases
M Single-phase
T Triple-phase
Number of poles
Code Poles
2 poles
4 poles
Versions / Power
Code |Description
Power (1): to order a transmission, the first part
- - of the field (which identifies the motor)
X Wlthou_t motor, with must be filled out, even if the motor will
transmission (1) not be supplied.
Size and shape
Configuration
i (1) (2) (2)
Code Size T = o292 9E2_ o
s (883 £52 £33
63 71 80 90 |100/112 o |o82&ne8Knhace
L ° °
M ° °
N . .
P ° °
R . .
S . .
T ° o - —
Toensuremotorsareavailable, BreviniFluid Power
v ° ° uses a network of qualified suppliers. As aresult,
z . . the motors may show slight differences in dimen-
X Without motor and without transmission sions (which are approximate) and appearance.

(1) Special housing built to customer's design, without fins
(2)Housing obtained from standard components

FP_E/002/2011 43 yo ’~ brevini

fluid power



Sect. VIl - AC Motors

lhydr-app

mnnn - Tab. 7.01 - B14 - Three-phase, 2-Pole Motor - 230/400 VAC 50Hz

Size D1 D2 H1 L1 Cable gland Screws
Code | Kw | IP | IC | S1 (o) | (o) | (o) | (o) |metricthread (M)| AdaPter 121 ypy neay
R A 0.18
54 F Sl 63 11 125 95 189 16 - 20 61004300 | 19.5 | M5x16
R B 0.25
L 0.37
54 F Sl 71 14 148 115 208 20 - 25 61000700 | 19.5 M6x20
L 0.55
M 0.75
54 F Sl 80 19 170 | 126 | 234 20 - 25 61000800 | 30.4 | M8x21
M 1.10
N 1.50 247
54 F Sl 90 24 185 142 20 - 25 61000900 | 40.4 M8x21
N 2.20 272
P A 3.00 100 210 | 155 | 310
54 F Sl 28 25-32 61001000 | 75 M8x28
P B 400 112 225 | 182 | 325
(®)Approximate
Overall dimensions
o L2
- O =il
T N O/, TJ =
o e N
o 5 A
Qjﬁ
L1
Installation:
- 4 screws, M8x28 (40011500)
FP_E/002/2011 4 yo brevini
I fluid power



Sect. VIl - AC Motors

lhydr-app

mnnn - Tab. 7.02 - B14 - Three-phase, 4-Pole Motor - 230/400 VAC 50Hz

Size D1 D2 H1 L1 Cable gland Screws
Code | Kkw | [P | IC | $1 (o) | (o) | (o) | (o) |metricthread (m)| Ad48PtEr | L2 1y 5ez
R A 0.12
54 F Sl 63 11 125 95 189 16 - 20 61004300 | 19.5 | M5x16
R B 0.18
L A 0.25
54 F Sl 71 14 148 115 208 20 - 25 61000700 | 19.5 M6x20
L 0.37
M 0.55
54 F Sl 80 19 170 | 126 | 234 20 - 25 61000800 | 30.4 | M8x21
M 0.75
N 1.10 247
54 F Sl 90 24 185 142 20 - 25 61000900 | 40.4 M8x21
N 1.50 272
P A 2.20
100 210 | 155 | 310
P B 3.00 54 F Sl 28 25-32 61001000 | 75 M8x28
P C 400 112 225 | 182 | 325
(®)Approximate
Overall dimensions
o L2
- @) =l
8 I N o g B
o o .
L
L1
Installation:
- 4 screws, M8x28 (40011500)
FP_E/002/2011 15 yo brevini
I Huid power



Sect. VIl - AC Motors

lhydr-app

mBnEm - Tab. 7.03 - Single-phase, 2-Pole motor - 230 VAC 50Hz - special housing

Code Kw K IC Size Service Cable Part code Notes
gland
A 0.75 ; M12GY3FF.001
54 F Al Light-duty M1 E 20 Without fan
B 1.10 M12HY3FF.000

(*)Cable gland PG11 until stocks are exhausted

mﬂnnm - Tab. 7.04 - Single-phase, 4-Pole motor - 230 VAC 50Hz - special housing

Code Kw K IC Size Service Cable Part code Notes
gland
A 0.85 54 F 7 Light-duty M16-20 M12YY3FF001 | Without fan

Overall dimensions

& IP protection level becomes effective after installation on power pack body.

8.25 max
5.32 max

I % ]

Al || &

Il ﬁy - g o
~ Q

wﬂ& K :

(2]

S 118 (175)

<

(...)Approximate
Installation:

- spacer (60507900)
- gasket (00007002)

- 4 screws, MB8x28 (40011500)

FP_E/002/2011

46

yo ’~ brevini

fluid power



Sect. VIl - AC Motors

lhydr-app

mﬂﬂﬂ - Tab. 7.05 - Three-phase, 2-Pole Motor - 230/400 VAC 50Hz

Code Kw K IC Size Service Cable Part code Notes
gland
A 0.75 M32GY3FL.003
54 F Al Light-duty M20 Without fan
1.10 M32HY3FL.001
M|s[*| 4| T|- Tab. 7.06 - Three-phase, 4-Pole Motor - 230/400 VAC 50Hz
Code Kw K IC Size Service Cable Part code Notes
gland
A 0.75 54 F 71 Light-duty M20 M32GY3FL.002 | Without fan

Overall dimensions

& IP protection level becomes effective after installation on power pack body.

8.25 max
5.32 max
g W @T‘[ T‘E_ gg
— [{e]
| B . (Z T g N
M0 2 R J— 3
L&'\ / ] |
(o2
S 118 (175)
3
(...)Approximate
Installation:

- 4 screws, M8x28 (40011500)

- spacer (60507900)

- gasket (00007002)

FP_E/002/2011

47

<0~

brevini

fluid power



Sect. VIl - AC Motors lhydr-app
mnn - Tab. 7.07 - Three-phase, 2-Pole Motor - 230/400 VAC 50Hz

Code Kw IP IC Size Service Cable Part code Notes
gland
A M33YD1FF000 | With fan
2.7 44 F 80 Light-duty M20-25
M33YD1FF.001 | Without fan

M| T[*]4|T|- Tab. 7.08- Three-phase, 4-Pole Motor - 230/400 VAC 50Hz

Code Kw IP IC Size Service Cable Part code Notes
gland
A 44 M33NF1FF001 | Without fan
B 2.2 55 S3-4% M33NF4FF.000
F 80 M20-25
C 44 M33NF1FF000 | With fan
D 3 54 Light-duty M33PF3FF.000

Overall dimensions

H
-
=l

m[T]B[4]T] x
[ c[a]T o] B2 g
m[T]D[4][T] © B = —
T S i
\ L
9.5
(238) ol |Mmax

(...)Approximate

miT[B2|T

mT]ala]7 ) I

g o as S =00 8
- £ L _ i Q
@); ([ S RIRER 2 =

03 c - S [l

L= 1 ﬂ

U U
8] W 9.5
v - ME (203) max

(...)JApproximate

Installation:
- 4 screws, M8x28 (40011500)

FP_E/002/2011 48 yo ’~ brevini

fluid power



Sect. VIl - AC Motors

lhydr-app

mnnnm - Tab. 7.09 - Single-phase, 4-Pole Motor - 230/400 VAC 50Hz

Code Kw IP IC Size Service Cable Part code Notes
gland
A 1.8 44 Light-duty M14MF1FF.001 Starting torque: 13 Nm
F 90 M20-25 With fan
3 55 S3-7% M14PF4FF.000
Overall dimensions
(7 d=xndt . — | &
2o ~ e —
Y7 SR EP ;
I
NIy
o] RS L
Q 9.5
< 118 - (280) <Max
(...)Approximate
Installation:

- 4 screws, M8x28 (40011500)

FP_E/002/2011

yo ’~ brevini

fluid power



Sect. VIl - AC Motors

lhydr-app

mnnn - Tab. 7.10 - Three-phase, 2-Pole Motor - 230/400 VAC 50Hz

Code Kw IP IC Size Service Cable Part code Notes
gland
A s | s | P % $3-10% | M20-25 | M34QDIFFO00 | With fan
M\ V[*]4|T|- Tab. 7.11 - Three-phase, 4-Pole Motor - 230/400 VAC 50Hz
Code Kw IP IC Size Service Cable Part code Notes
gland
A 15 S1 M34LF1FF.000
22 44 F 90 S1 M20-25 M34NF1FF.000 | With fan
(1 3 Light-duty M34PF1FF.000
Overall dimensions
N //Ej\\ F \O O [
3 © \d M 0
W — | ¢
NS “
8 R - ) L
| 9.5
; 118 - (280) max
(...)JApproximate
Installation:
- 4 screws, M8x28 (40011500)
FP_E/002/2011 50 yo brevini
I fluid power



Sect. VIl - AC Motors

lhydr-app

mﬂnn - Tab. 7.12 - Three-phase, 2-Pole Motor - 230/400 VAC 50Hz

Code Kw K IC Size Service Cable Part code Notes
gland
A M32HD3FF.000
1.1 54 F 71 Light-duty M20-25 With fan
M 2[*]4|T]|- Tab. 7.13 - Three-phase, 4-Pole Motor - 230 VAC 50Hz
Code Kw K IC Size Service Cable Part code Notes
gland
A 0.37 44 S1 M32EL1FF.000
With fan
0.75 F 71 M20-25 M32GF3FF.000
54 Light-duty
C 0.75 M92GY3FF.001 | Without fan
Overall dimensions
m[z[A]2]T]
W[z[ALe]7
m[z[B]4]T] & Ly 8
= SR < 8
Sy —
85 8 E— —i
| -
8 5.32
! 118 (213) | ¢ Mmax
i ~
2 (...)Approximate
m|z[c]4]T]
& 0l0
v
= V N”? I ﬁ - <8
©
Y - K © 3 ; _
% /& Yy
g | 5.32
! 118 175 | Mmax
i a
(...)JApproximate
A IP protection level becomes effective after installation on power pack body. Installation:

- 4 screws, MB8x28 (40011500)

- spacer (60507900)
- gasket (00007002)

FP_E/002/2011

51

<0~

brevini
fluid power



Sect. VIII - Position and orientation of installation [Elhydr-app

Sect. | Sect. Il Sect. Il Sect. IV Sect. V Sect. VI Sect. VIl Sect. Vil Sect. IX
‘FP* * **‘_‘_* _*_‘P ****/*_ G‘.“_ * XX | ¥ *_ T‘.“_ * * * */”-X-_l*l*l*l_ R * *%*i*i
[ ]
Power pack position <4+—
Tank orientation 44—
Motor orientation (omit if motor is not required) 4+—
Separation line (ends Sect. 8) 4—

Orientation of motor (2)

Code Type See Tabh.
1 Position 1 8.3
2 Pasition 2 8.3
3 Position 3 8.3
4 Position 4 8.3

(2) Orientation of poles and starting relay on DC motors, or orientation of con-
nection box on AC motors, in relation to the side where the power pack body is

fastened
Orientation of tank (1)
Code Type See Tah.
1 Position 1 8.1-82
2 Position 2 8.1-82
3 Position 3 8.1-82
4 Position 4 8.1-82
X Without tank —
(1) Position of fill plug on tank in relation to the side where power pack body is
fastened.
Position of power pack
Code Type See Tah.
H Power pack in horizontal position 8.1
v Power pack in vertical position 8.2

FP_E/002/2011 52 yo ’~ brevini

fluid power



Sect. VIII - Position and orientation of installation thdl‘-(\pp@
- Tab. 8.1 Power pack in horizontal position

Code

b= =i = =i = = - =
BN =

Position of fill plug on tank in relation to the side where plug on the power pack is fastened.

FP_E/002/2011 53 yé ’~ brevini

fluid power



Sect. VIl - Position and orientation of installation Mhydl‘-(\pp@
- Tab. 8.2 Power pack in vertical position

Code

i

< << <
BN -

X% N

Pasition of fill plug on tank in relation to the side where plug on the power pack is fastened.

FP_E/002/2011 54 yo ’~ brevini

fluid power



Sect. VIII - Position and orientation of installation [Clhydr.app
- Tab. 8.3 Position of motor (omit if motor is not required)

Code

DC Motor

BIWN |-

Orientation of starting relay poles in
relation to side where power pack body is
fastened.

AC Motor

Position of connection box in relation to
side where power pack body is fastened.

FP_E/002/2011 55 yo ’~ brevini

fluid power



Sect. IX - Accessories Eﬁlhydr-opﬁ’

Sez. | Sez. Il Sez. Il Sez. IV Sez. V Sez. VI Sez. VIl Sez. Vil Sez. IX
P /- 6] |s /.

- =

R |R|*|*'*'*'

[ S |

* | % * | % *| % * [ %%| * * (%% * | * * | * | * | * * | * | %

PP

*

i ST M

Accessories field |
Type of accessory (in alphabetical order) 4
Position of power pack
Code Type See Tah.
Standard foot (in galvanised
A 9.1
sheet steel)
Non-removable plug for max.
B h . 9.1
pressure valve (in red plastic)
c Protection device for DC motor 91
(in black plastic) ’
C High foot (BAJ) 9.1

FP_E/002/2011 56 yo ’~ brevini

fluid power



Sect. IX - Accessories

lhydr-app

steel

Code |Descrizione Drawing Notes Part code Code fork;:tomplete
A | Standard foot Galvanised sheet 17010075
steel
Non-removable plug .
B for max. pressure valve In(gid pllizzt)m 60309200
CMPR04 pp
Protection device for DC
C motors In black plastic 17010048
(M2B**)
D | High foot (BAJ) Galvanised sheet 17010053

FP_E/002/2011

57

brevini

y" fluid power




Overall dimensions of flange lﬁlhydr-opﬁ

2+2 M8 HOLES (14)
(FOR ATTACHING PUMP)

SIDE WHERE POWER PACK IS ATTACHED

82
| | 0
=) L 1 3 ] S
S — ‘ —
= ! ! !
g | & o
S !
- |
N L T T
THE CAVITIES (1-2-3-4-5) AND THE PORTS (A-B-C) Nl I _ . I il
ON THE DIE-CAST BODY ARE HIGHLIGHTED 2
O B O
Sg
S S _ s | - ine.
= S
Q ol<<
£ S Q
=
L] | \rgek - I 1 |
THE DIMENSIONS SHARED WITH THE FINISHED PUMP/TANK SIDE
BODIES ARE INDICATED ON THE DIAGRAM ‘
AD o
GROOVE FOR TANK o BHO PORT SIDE
SEALING GASKET , 5] ,
(0-RING, 3.53x110.72) L — ]
I
52
185 2 - M6 HOLES (10) WITH CENTER
: DISTANCE OF 101.5
45 15,5 . ‘
¢ Lo MOTOR SIDE
>
v S5
ol M o ITo) o o - =
= O X & | R Y N ol = ©
=~ @ oo} ~— == ha
a 8 Q H Q 8§ 7 = 2
4 g/E
Sa=
— =
25
o g ,,,,,
3=
14.1 15.4

FP_E/002/2011 58 yo ’~ brevini

fluid power



Sample order code Clhydr-app

W e ™
[]
ICs

Selection code of unit shown:
FPAB2DAAB+E5TG7G-N-P117-S206H-M2A4A-H11-RA

=1L
8

l
=
=

Sect. | Sect. Il Sect. Il Sect. V Sect. VIl Sect VIll _ Sect. IX
[rpla 8] [2]0]alagle[5[T]6[7]6|N|-[P[1]17]- [s[2[o]H]| [m[2]a a[a}[H]1]1] [r[A]
L LSupportfoot(suppIied)

Unit in horizontal position
with orientation of body/tank
with orientation of motor

DC motor with diameter of 114
2000 W (nominal)
24 volts, without accessories

L— Tank in sheet steel with diameter of 175
6 litres of nominal capacity
with horizontal orientation
without variants

“— Group 1 pump
nominal displacement of 1.7

- —— -1 71T — — — —/ — /7

— No plug on
| port side |
L— On drain cavity 7
flow regulator VCDFOB, with capacity of 4.5 litres
| L— On cavity 5 |
plug, M16x1.5
| — On cavity 2 |
solenoid valve, NC, 24 VDC
flow regulator, VSC04, 3.1 I/min.

List of cavities used, with description of valves (connectors or plugs)
'— Product series

body according to number of cavities
with maximum pressure valve with one-way check valve

FP_E/002/2011 59 yo ’~ brevini

fluid power



Sample order code Clhydr-app

W Ty =

Selection code of unit shown:
FPCB2DAAB3TC+E4TF5TH7G-C-P117-S206H-M2A4A-H11-RA

A

G1/4

& |

A e
O-on i

T

E

’@ CAVITY 5 ‘ PORTC @

l
|
) PORTB | | DRAINCAVITY6

g |

Sect. | Sect. /I Sect. /Il Sect. V Sect. Vil Sect. VIl Sect. IX
[rplc[8] [2[o[ane[s T[cl[4]T[F]s [T H|7[6|-c]-[P 1]17}-[S]2]os]ti]-[m[2]A[4]a]-[H[1]1] [r]A]

L |_ Support foot (supplied)

Unit in horizontal position
with orientation of body/tank
with orientation of motor

DC motor with diameter of 114
2000 W (nominal)
24 volts, without accessories

L— Tank in sheet steel with diameter of 175
6 litres of nominal capacity
with horizontal orientation
without variants

“— Group 1 pump
nominal displacement of 1.7

- 0 — 71 — A 71T 7T . — /"
‘— Onport C
plug, G1/4
| L— On drain cavity 7 |
flow regulator VCDFOB, with capacity of 4.5 litres
| L— On cavity 5 |
plug, M16x1.5
L— On cavity 4
| plug, 3/4 16UNF |
with G1/4 outlet
| L— On cavity 3 |
plug, 3/4 16UNF
flow regulator VSC04, with capacity of 3.1 litres
— On cavity 2 |
NC solenoid valve
L 24\DC
List of cavities used, with description of valves (connectors or plugs)
L— Product series

body according to number of cavities
with maximum pressure valve with one-way check valve

FP_E/002/2011 60 yo ’~ brevini

fluid power







Plant HYDR-APP

Via Moscova, 6 - Villaggio Crostolo e —
Casella Postale 3057- 42124 Reggio Emilia - ltaly
Tel. +39 0522 270711 - Fax +39 0522 270660

www.hydr-app.com

Il HA TEC FPE 06 11 DOC00038

—
Brevini Fluid Power S.p.A.
Via Moscova, 6
42124 Reggio Emilia - Italy
Tel. +39 0522 270711
Fax +39 0522 270660
www.brevinifluidpower.com

info @brevinifluidpower.com




	Pagina vuota

